
 

 

 

PROPOSED KEY ANSWERS 

FOR THE  COMMON WRITTEN EXAMINATION CONDUCTED 

FOR THE POSTS OF EXAMINER, READER, SENIOR BAILIFF, 

JUNIOR BAILIFF/PROCESS SERVER, PROCESS WRITER AND 

XEROX OPERATOR IN THE DISTRICT JUDICIARY  

IN THE STATE OF TAMIL NADU 

 

(Notification Nos.75 to 102/2024, dated 28.04.2024) 

 The proposed key answers marked in the Question Booklet                            

(A-Series), for the  Common Written Examination for the posts of 

Examiner, Reader, Senior Bailiff, Junior Bailiff/Process Server, 

Process Writer and Xerox Operator in the District Judiciary in the State 

of Tamil Nadu conducted on 19.10.2024 (Saturday) are hosted herewith. 

 Any objection with regard to any of the proposed key answers should 

be sent by the candidates to the Registrar (Recruitment), High Court, 

Madras, through e-mail (jrcmhc2024@gmail.com) within two days from 

today. In such communication, Registration Number, Name and address of 

the candidate, Question Number, Series of the Question Booklet and answer 

for such question according to the candidate with supporting material for 

such claim should be quoted invariably. Any representation received after 

two days or without any of the above requisite particulars will receive no 

attention.  

 

Dated: 25.10.2024                  Sd/- 

Place: Chennai.      Registrar (Recruitment) 
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(B) ,Di,6161ourrr 

(D) g-GuGbeS1G617 

2u_ieSloo-rrr 

(C) Q66rrom_eS)arrr 

(D) Gigios)Lb 

PART — A 

4 Q_6t5T111_ Qthrr®Gprrfr-P__61(r Clarr®AGrrGif P_Gaikt. — Qurrr 

P_ORIT611 
	

(B) Q_GOL_ 

(C) 	@OL.J 
	

(D) P_600114.l.11 6b 

11-6001 	ant LDft 

(A) GurOgibut+ ffWu 

(C) urrfrls(5thu* 	 (D) 61u_lisk5Lbuki. 

`6E160ogf oroirruoop& (rthl.L.b ClarrGb 

(A) GT61 

(C) ( orrL:o 

GE66-661 

mud) $1-Li1 Qpthlei Qu,0 ,G6L6uu@LI) eSlerrrr 

5. 	&pih' oroisrudyr or66016-661Ehona 

(A) pbugi 0110-1  

(C) @ou§ 
	

(D) ufti 

`Qau_OonE' — 	(r&Q6FrrGb poa 6. 

(A) g000LD 

@l4615)(% 
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puSlpessAlGirr (pi) QL16001 Loogiairr uirrrr? 

(0.0Q6D11&LIS1 	 (B) u6001 	4.p LDrrurrLiJ 

(C) 	rrkC.5 ragUirr 6iDELi_fr 	(D) ue_igiffr .@ijrrmi-n6lrrpLb 

66orrth „9iGurraci-r GliA4p upeS1 or§? 

(A) (.42,pcoanogfraft 	 uj& pnwairr 

(C) 	6661)61 .16-6)E3#,Efrr 
	

(D) 00 .„916-6)u)#.5fr 

LD64p6iiT  	-ueD4paiGifr. 

(A) 2 	(rwfilai) 
	

( 3) 917001 

=Wfilal 
	

(D) 

P_606U Q U IT§ LD GiDiD orGisrg 	u ® Lip r6i) Gr§? 

&5,06.ir 

(C) athulynorriumrth 

(B) -161,Es616ab 

(D) Loomu@66L_rnb 

	

11. 	L.C164§ org,§66 : aGdotQL_Gl&a:Juil®Gtrureff 

adt9-61 + or@t666uuL@ + g_drGrrar 

a6,601® + cr@isEEJ + uL®GirGrrm 

6s6-kra_.®16.EB + LA:4 + G.ITG•rrerr 

di + 	+ uLg + 6.1-T-Grrarr 

	

12. 	Exhibition — pu51016b QLorrOlQuuifriub 

(A) 	M 17 U_J ryrL a Lb 
	

(B) 00051prr 

u rroLlima:_g 
	

(p) 	rarr 

Of! 
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`@®LoGou'-QurroGtr 6F610i 

(A) mg ,(41 
	

JG-inuLb 

(C) alg.16-nup 
	

(D) p6i5T,61 

a-u&iQuuJft g 

(A) 6 

cy upb 

(B) arrtii 

(D) QmrrL® 

LDIT6001611ftelar gr6b666-our 

(A) CLDCGINTLI_Lorr6 

(3) LDITcT,D 

 

ts,<Fb Ce_160oi 

(B) Lorw 

(D) uptuct&g9 

 

@L_QinGbwrrLb aGisrgith Cl6Frr6bccoGoC_I 6-161§ GT-gip& g601_11111§ 

(A) 	@I_Co + QL.D61)Gorah 
	

+ GT6i)Gorrib 

(C) 	+ crGimnb 
	

(D) 	Qin6b6urrib 

17. 	aqlfjpth Qun-odr alp 

0 CP1r6t1-1 
	

(B) QprrGtems 

(C) C6116601 	@p6b 
	

(D) L®i:Jurr® 

18. 	puSlpffiOGI) yo51&6-i-r ErrUuffiLb cr9iGnin,t§ei-rGrr 

(A) Ce.i4pn-1LEGi) 
	

(B) asniq_u_AffieDij 

g6doifttg.16-6),D 
	

(D) 6F61,tpGin-  (GrrLb 
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ild)61 

(D) urrLO 

Q_ Cr 6T-Uft,&6561.NiST GT.6kr6-011-9 &6-6)a 	  

12 	 (B) 18 

(C) 20 	 (D) 247 

cOaeil - Gpt,6Qp® 

LO IT, LI GINT, 611 IT615) 
	

(B) Lflrr, GlErrtinurr, 

(C) 	wrr, 	tp-nips)5, LD IT§ GO 611" 	 (D) 6FC_IGurrLt-rr, airrmw, uGorr 

5Muirrar iniTHEF Q5n-Gbem 'apitAQp® : 

GarrO1 	 

Qarr46561th 
	

(B) ,9166a1th 

(C) 
	

(D) 	GOL 

uGtraNs6 QadyroiaGbeS1 	 

uuSlg.ipt 	 (B) urrrrpGb 

(C) 	GE LL_Gb 	 (D) urr®pb 

0(55,DGoGrr ujujjft tunt.? 

(A) 65thun- 	 A56-1.iGtreir'r 

(C) ulT41turrit 	 (D) ,@crri-LGffirre_1466:fr 

24. 	,...DIAurrenomuJ $16g1 _9016-nal eSlartG-u§ 

(A) eSle-rE5 

(C) •eSlowniurrLO 
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uabi 	L$Qp1T61D6 

(D) P_OGIJEW 

(B) ffrgagiC_ILd 

(D) 	C166i) 61J Lb 

Ern_L_IT§ 

C,suribuGb 

(C 	6)- 6-2DLD 

25. 	-D10-1615T 

(A) ai,tprrel-r 
	

(B) Gu,tprrft 

GIO`pn-6-b-r 	 (D) al,6p§ 

26. 	'CliFpu51.' adyrupd-r @G-016001,t (5 • LI 

(A) 616-5)60Qprres)66 

(C) 	1.1)6-6)LnQprr6-6)6 

27. p6-b-r (5L+6b-miEF blOp 	116bcf Q(EFILILLJ e51(5WyGithlL_Lb 

 

@(516ait 

 

28. 	DIG-i5Ta060T prrecr Ourtr0 

 

b161C_IL9Gb LoAlt41 ,Dient__ALDrrit. 

 

(A) pitiGn6s416b-r 	 (B) 61668-r 

uppoDemaGisr - 	 (D) E66VG11666-isr 

29. 	u51GrrErruii GuaDeSl&r 

(C) 96-n& 

glLbLDGID61) 6110-61_16-npk5th. 

(B) arri141 

(D) waicab 
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e_cloo6-u 

D pGirro516-nar 

30. 	Go®11c_i_ or-g$015a6-ndr pjuya : 

(B) 

(C) 
	

(D) a, 9- 

31. 90ant Q5ulituet and_rrpo 

(A) pGbaclepar 

(C) arToSla9611-1 

G-*ri-Grr$1Gb 

 

4@GixorrinGb AOP 

 

(A) upalif#ifq (B) Ln6i51-661C_Iy 

(C) §6-661ai 

`Garribudf GrGhT 	Q6crrGbpt(561u_i Qurro$pLurrar crOrrIcClarr6b 

(A) 	„9.101e4 
	

(B) 	6:0T LI Lb 

agagny 	 (D) GarraLb 

effrail6b gig filGoal ,Diparra 

(A) puij 

(C) §6661611 
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GprrLi_061) pLba ff6oT6IUJ 	 GTGixorab cy)6purp 

(A) 0§1565th 	 (B) LsI gi,csGtr 

(C) (OptaGiT 	 eSIgiftEse'rr 

`E,EFi_em' Greo-rgnh QzfrrGb6-6)6D 6-161§ G-rG)p glen_uu§ 

(A) 	tEEF + 

(C) E550 + 

urr,Goar 

 

blAtp 666oGoui1rLb. 

aiGnerrpt 

(D) Er@pb 

 

(A) ClauLipi) 

(C) cy3G-ni_p61) 

1:_l Qurro.0§1s Q66rrd-rGrr Gai6601@ 

	

,@5G1_11-ranj 	 (B) 	irrr 

(C) 	_irropix 	 (D) w urror  

39. 	i_Drr@ Gutue516b LIG-1)66)Go Gmtli<tpgi - 	Qp11i_61Gb Q_Gi-rar 66-n651gOg  

(A) Lorr® 	 (B) e_lui61) 

(C) L461) anti_ctpo 

pGirromn 
_ 

40. airr6-6161) eso 

0 (4)g6i)  
(C) QGutaGb 

Gprr6iff 051-11-61) Loaq QurrOtwb GrGigurr. 

(B) ji 

(D) 66111Gb 

9 A DJRE24 
[Turn over 



`,56isr 	— or6irrgAb Q.51T6b61)60 6161§ GruN4h. 

(A) 	pGirr + Qiii 
	

(B) p6-b-rg + Qtrytii 

pdreow + Q4FtLi 
	

(D) pcb + CLEN:J 

11_066)&601U Gurrybgp‘b pLaprr 

0 wiTLI 

  

(B) 	Q u rr(T§ 

(C) e.J 	 (D) paei 

90 G,TrrGb pailft 06-isrgi Qu'rroctr poaio 

0 p6-61Qumr01 	 (B) QprrLier GLorrOl 

(C) 	U60 Qumr0 	 (D) Qurr§ Qt.orrS1‘  

666bT GprrO 0615)G0  

(A) 	Gu rr§ 
	

(B) 

(C) g 

 

 

QemkrurrEsesGrurci) „%esr ofrGurrib. 

(B) Gp6lem 

(D) blOuicb 

 

 

((°61T  

(C) @Gisreqe)EF 
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(6161Gurrr@ Qprn_ra5161)Gurrp§ orgi? 

(A) .z9i,E01 

(C) LIG-061 

  

   

EJL QLorrO or6irrg ,9i6b-V6C_IuGth QL.orrO 

(A) LDGo)QuJ rrQrrLb (B) (Esd-res-ri_Lb 

6finGfugogo 	 (D) Clpgir&J 

pai,Drrar CleKr6b6-6)6D (11_116-1®ffi : 

(A) EE660 	I rrGisr QdsrlyrrGirr 

(C) 	(56601@ 	 (D) &Ado! ® 

aqlprr&ErrwrLa€616i)QL6bTairruSloS1Gb Lorre.516-6)Gouirr6b 	 

(A) Qa (B) QErrici_ 

Gprr16001th (D) ,91Guit667 alma-red 

50. Lozt&GIT 

(C) Ep661616b 

Qaithlprr®,s6iE(VF Q&64,0661-6-. 

(B) &MOGI) 

GurLEOGI) 
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PART — B 

Who regulates Monetary Policy? 

RBI 	 (B) SEBI 
(C) HDFC 	 (D) SBI 

U6001611116b Q6B11G1T6nE66MLI 9grW_Iu@oe_to turrit? 

(A) RBI 
	

(B) SEBI 
(C) HDFC 
	

(D) SBI 

The Tamil Nadu Government has announced that the smart class rooms 
would be built in all 23,000 Government 	 in the next four 
years. 

0 Primary Schools 	 (B) Secondary Schools 
(C) 	Higher Secondary Schools 	(D) Colleges 

prr6b-r 	,%6601®ffief16b 	16-6)61srgi 23,000 irjer 	  
QprrOGI) giLuprrGb GambuiTh_ G.Ji_liumemffiarrra Lorr,b,DC_Iu@Lb or6v puSlprrG1 
.113-ar .910eS1§6i-rerro. 

(A) 	.siji_ipu uGiTerfl 	 (B) Ga)Gb,6166)GoLi uthafl 

(C) 	11_1(r,616-6)6Diii uGi-re61 	 (D) &Gbg_frrfl 

The UN climate change conference 2021 was held in 

(A) Paris 	 (B) Moscow 

0 Glasgow 	 (D) New York 

2021 .L.b &ooiT 	áuj prr@adr 5LUJ 	rra) GtoGo Lo1reb,0 tffirprr@ 6-1-1 
pen_Quao§.1? 

(A) urr616t 
	

(B) Lni-rduGcsur 

(C) glGrurGiuGan- 
	

(D) OgU__Irrer& 

Malala won Nobel Peace Prize for her contribution in the field of 

0 Education 	 (B) Women Trafficking 
(C) 	Child labour 	 (D) Environment 

LDGurrGorr Gr,tp 06-6),0616) paro urLEGainSlibEurffi GprruGt ,16-1DLDOCJ u6161DEFLI 
Quaorrit? 

(A) 
	

561)61 
	

(B) Quatfradr ffi4p6i) 

(C) 
	
(061')P QP4161) rrG61 
	

()) 'EF,,thPIFWGb 
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Rohit Sharma 

(D) Surya Kumar 

(A) Dhoni 

(C) 	Virat Kohli 

National Lokmanya Tilak Award for the year "2024" was awarded. 

Sudha Murty 
	 (B) Tessy Thomas 

(C) 	Andrew-Pollard 
	

(D) Sunderlal Bahuguna 

2024 ,sCe, .s66014,08rrefr "GpAiu GGurrEumr6irrui 	61306n61C_I" Quctpairr 
turrfr? 

(A) 	6frprr prrà 	 (B) QI_Gn51 praodu 

(C) 	 QurrGimn- rr@ 	 (D) Opri-Gurrd) uw-.615-rrr 

Which is India's first home-built aircraft carrier? 

(A) 	INS Godavari 
	

INS Vikranth 

(C) 	INS Talwar 
	 (D) INS Brahmaputra 

,Ou_i1reS1613-r 	TprrL4GGoGui pu_irrCt&C_IuLL_ GDpb 6Lo1ren- Lb prrrLA116 aC_IuGb 
6TgJ ? 

(A) 	INS GErrprrairfi 
	

(B) INS eSlIsijrct 

(C) 	INS pbairnt 
	

(D) INS 61D-LbLoypyrr 

Who is the first Indian to hit 500 sixes in T20 cricket? 

4-20 gfitQELLEI_Gb 500.AlsourrE6-6)Grr 	(ppG-1) 	bUJft turrrr? 

(A) Gprrail 
	

(B) rrc5 anrr 

(C) 	619-rrL GE6n-61 
	

(D) 	(L1M1-12r 

58. 	Who is the new -Chief Minister of Telangana? 

(A) 	Chandrasekhar Rao 	(B) Jagan Mohan Reddy 

'Revanth Reddy 	 (D) Sachin Pilot 

Qpptiffirrarrr616t yOui cy3pGbGurr Lunt? 

(A) 	act09-G.EFErr rrrj 	 (B) QN&615-r GLurrffi&T Q9-114_ 

(C) 	GiTaIM CIO-L4 	 (D) a,416iST GI) U 60 

A 	 13 
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62. 	Income Tax is a 

Direct tax 

(C) 	(A) and (B) 

GuoLorrar Gur9 GrEisrugi 

(A) GprWa 611 

(C) 	(A) LAbgLi) (B) 

(B) Indirect tax 

(D) Degressive tax 

(B) in6nimga athl 

(D) &Mai Op Qthl 

The city which is called as the Manchester of South India is 

(A) Chennai 	 (B) Salem 

(C) Madurai 	 Coimbatore 

Qp6israilhOurreS16isr LorrEin-Q&Giui_rr G-reoroi ,916nptailtu®Lb pao-Co 

(A) 	Q&6b-reo 6Y 	 (B) C &GU Lb 

(C) 	LD§ 67J) 	 (D) Garr ud jjji ft  

Who is the new captain of Chennai Super Kings? 

Ruturaj Gaikwad 	 • (B) Deepak Chahar 

(C) 	Jadeja 
	

(D) Kedhar Jadhav 

6F6IST60 6trf Wiufr krtiGiu .1666166isr yOui 

(A) 	(5010-rr GatfAa!rrL 
	

(B) $u,'ss &rrwfr 

(C) NGi_nrr 
	

(D) Gap NrrpGii 

Which state has the highest number of Ph.D. holders in India? 

(A) Karnataka 	 Tamil Nadu 

(C) Bihar 	 (D) Rajasthan 

,@Ou_irre_416i) „9.108 61.611F. L9_ (Ph.D. ) uLi_prr6ladr 	ThrGrr umr,61Gui.b GTo? 

(A) afrpn- L_Z5rr 
	

(B) pLiSlprr® 

(C) 	Sarrrr 
	

(D) ryrrn Giuprrdsr 
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63. 	Right to freedom of religion is related to 

Judiciary 

Parliament 

Directive principles of State Policy 

Fundamental rights 

aLmulF ,Errp09-  6-166)u) orptii_a-r Qprri_iery6-nt_u_J§ 

(60 066),D 
urrip-rin6-isrpb 

Qpfilgas),6u_i0.00th Qrrth611) 

.1 9_CJLJ61f)1 	61 61S) L.D656iT 

64. 	The North-East Monsoon period in Tamil Nadu 

(A) 	August - October 
	

(B) September - November 

October - December 	 (D) November - January 

pu5400G1) al I_ Al 	U 3611 inev QurrOlu_ith umrprLad-r. 

(A) 	,Dscs5Giu® - .GL_rrurr 	 (B) Q&C_H_Lbu - penbuit 

(C) 	„9116Gi_rrun-  - ki_aLburr 
	

(D) penburr - naren9 

65. 	An Indian citizen has the right to vote at 

(A) 	14 years 
	 0 18 years 

(C) 	16 years 
	

(D) 21 years 

@cOlu_kt (Lci_Lni66666168r ain- 616touit,E6rr6tg en_to 

(A) 14 

(C) 16 

66. 	A day has 	  

(A) 	1240 minutes 

1440 minutes 

93 (51r515(.  Opepar filuSli_rLvsdr? 

(A) 	1240 filuSli_rtm5GIT 

(C) 	1440 OuSlI_IL 656iT  

(B) 18 

(D) 21 

(B) 1340 minutes 

(D) 1140 minutes 

(B) 	1340 filibli_rLE6Gtr 

(D) 1140 filuSli_rL&Qtr 
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67. 	Recognition of a Political Party is accorded by 

0 The Election Commission 	(B) The President 

(C) 	The Supreme Court 	 (D) A Committee 

,w)-AuiGi) ,E5Lbla6nar irtigarNELb .1613-)Lnny 

(A) 	Gpn-pb .z%60600r1L1 Lb 	 (B). (Lu_JITE4 pamairr 

(C) 	$AlLods-r,DCD 	 (D) 95 C(T 

	

68. 	Who is the Finance Minister to present 7 consecutive Union Budgets? 

(A) P. Chidambaram 

Nirmala Sitharaman 

Manmohan Singh 

Moraji Desai 

QprrLiOgi 7 (4)6-6),0 wOui uLCINL61666-nur prriBEGI) Cl&t.fip 	,z916-toLokqr u_irrfr? 

(A) 	u. ApLburpb 
	

(B) OrruNorr gprroTruxisr 

(C) 	Lo6irranrrEd-r ArLI 
	

(D) QL.orruTra Gparrull 

	

69. 	Who uses the Photoshop software more? 

(A) Teacher 	 (B) Doctor 

(C) Painter 	 Photographer 

GurrLGI_rrelirriii QinGisrQurrooDur 108L'o utud-ru@AgiuGurr&GIT u_irrt? 

(A) 	,w0 61111 lYtEctr 	 (B) LI) (5g.ial ft 

(C) 	e_166016-mh 	 (D) yesmsUul_16 Es6ncueri-666h- 

	

70. 	India International Science Festival 2024 was held at 

(A) 	Uttar Pradesh 	 (B) Madhya Pradesh 

(C) Punjab 	 0 Haryana 

atO 111 &ltal Gprf .-1,61G)S1 U161) acIprr 2024 G-rr 	pos)i_Quaogi ? 

(A) 	24p9-1:_iL.cliTGpsfib 	 (B) LouJCJ 611)-Gp& lb 

(C) urrij 	 (D) mr9uirrarrr 
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71. Prime Minister's 'Employment Generation Programme' (PMEGP), 
recently seen in the news, is administered by which Ministry? 

Ministry of Urban Development 
Ministry of Labour and Employment 
Ministry of Agriculture 
Ministry of Mi&o, Small and Medium Enterprises 

LW 	00 r1.616irr `Gai6nGuairrtiJti,y p 60 (.y) 61D,D 	IL I_ Lb 	PMEGP 
.167J)Lonurr61) filrraig&aDu®AleDoi? 

parru4D GLoWurni@ ,16-6)LuMaLb 

QprrOlGurrGrrrr LADomb 	DQJiLUUL,cM Li) &ff Li) 

eSlaiarrui .16-nintREF6ELb 

61g magmb pWpiy filgalarrLE06ir1 gieno.#566Co 

12. Which State established a special fund to save purple frogs in the 
Western Ghats? 

(A) Odisha 	 (B) Kerala 
(C) 	Karnataka 	 Tamil Nadu 

cLofl 	Qpn_rrithl Lo6-6)6o6161) .frprr p 61J 61f) Grr66 a) err 6Erri:JurrAD 41,0Lig (611 90eitgUJ 

umr anb or§? 

(A) 9Lq_arr 
	

(B) G6D-errrr 

(C) arrprrrr 
	

(D) PuSIPIT@ 

What is the major electricity generation power source in India? 

Coal 	 (B) Gas 
(C) Nuclear 	 (D) Hydro 

atOturr6Gb u616ir1arrlyth 	Q6FuLiuLip ghtgluJ ,wrrinb or§? 

(A) filGuluEr9 	 (B) G-rMairru_i 

(C) 	.10.016irr film GD 1.11 Lb 	 (D) $ftuSlar filexouLb 

Shikhar Dhawan, who recently announced his retirement, is associated 
with which sports? 

(A) Hockey 	 (B) Football 

0 Cricket 	 (D) Tennis 

6FuSu0Gb par§ 9u:J6na, 	 *Err GJrrGT, 	616-no-ruirrL®1_611 
Qprri_rryom_uiairr? 

(A) wrrztg 	 (B) arrouboi 

(C) glMtas5L 	 (D) Q -resfidu 

A 	 17 	 DJRE24 
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Who became the first Indian archer to win gold medal at the 2024 Paris 
Paralympics? 

Harvinder Singh 	 (B) Manish Narwal 

(C) 	Nishad Kumar 	 (D) Sumit Antil 

2024 urrifldu urnyrr 9610)61,tAGI) 61Gb eSIG-topu96-1) pi-LEL.] up&EW QG-u6isito g,p61) 

atOlurr 

(A) 	wrreS1(6pit ArL 	 (B) LID 6464 prrairrGb 

(C) 	(6-1Glirct (L.Drrfr 	 (D) ErLfsl ,%64T461) 

Wayanad land slides, recently in news, is located in which State? 

0 Kerala 	 (B) Telangana 

(C) Maharashtra 	 (D) Karnataka 

6FuSuOG-1) QatiJOffidGb urrit$ eni_iprr® (61GolF6F6lai (tP' umr(610061)  
,zz91 GO in(6§61-rargi? 

(A) GErTurrr 	 (B) ClpgrLErresur 

(C) wErrip-rellikwrr 	 (D) Errpn-I_Err 

Which country got the most Medals in the Olympics in 2024? 

0 U.S.A. 	 (B) China 

(C) Japan 	 (D) Australia 

2024 961WLS1E Gurriliq_u51Gb 	LJL 	rrrEiu (yr® or§? 

(A) .1Qin61&Err 	UJp1r0E61-{ 
	

(B) geyrrr 

(C) NCiurr6-b-r 
	

(D) ,GfuAIG13-661 rr 

Which one of the following High Court Building is the second largest 
Judicial complex in the World after London? 

(A) Bombay 	 (B) Calcutta 

.0 Madras 	 (D) Delhi 

2_641GGDGILI &-u60011_01 	 @ijuico_rraig Qu6liu tgAlfti6-6),e LGrrrrEth 
6T§J ? 

(A) 	u Lb u [Full 	 (B) 	61),F4p rr 

(C)• OLDLITrrdu 	 (D) QL_GboS1 

-DJRE24 	 18 	 A 



4 

3 

1 

4 

(a) 	(b) 	(c) 

3 	2 

4 	1 

2 

3 

3 

1 

(d) 

1 

2 

n2 

4 

79. 	Who is the present speaker of Tamil Nadu? 

(A) P. Dhanapal 

(C) 	D. Jaya Kumar 

rreDpiu pLó1 	LiIrbIrUJaft UJITft? 

(A) 	P. parru rrGb 

(C) 	D. GINiu&L.orrit 

Ø M . Appavu 

(D) R. Avudaia.ppan 

(B) M. .11:_1111-10.] 

(D) R. .S61_16191_1111:J116t 

80. 	Match the following using the codes given below: 

October 2 
	

1. Republic day 

September 5 
	

2. Independence day 

August 15 
	

3. Teacher's day 

January 26 
	

4. Gandhi Birthday 

u rroti : 

.1,Eta_1rurr 2 

Q&C_H_Lburr 5 

466GiuL 15 

NcerGil 61 26 

(a) 	(b) 	(c) 

4 	3 	2 

3 	4 	1 

1 	2 	3 

4 	3 	1  

UJr&GoTLb 

Efi:pctOr1QiTLb 

,9sblMuirr osab 

640 QN ui,t0 

(d) 

1 

2 

4 

2 

A 
	

19 
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81. D.N.A. finger printing technique is widely used in 	 
investigation. 

0 Crime 	 (B) Agriculture 

(C) School 	 (D) Office 

esbyGb 	QprroGb oniumrrarg u_JeSluGb uiu6srurrOffith1Gb 
	 ,9i6toi_u_Jrre-rth 65rr6001Liuu_Alsru@Alp§. 

(A) (,b,Dairr€61ffier)Grr 

(C) utheamar 

82. 	Light always travels along the 

(A) 	Smooth surface 

0 Straight line 

GriLaurrg0 	 ClffGbeilp§. 

(A) alpagLiurrar u(0 

(C) Gprr&Gffirrilici_Gb 

(B) eSlaup-ru.51666-nar 

(D) ..igialemsrLbEEeDur 

(B) Rough surface 

(D) None of the above 

(B) QzFrriTQ,EFrriTCJurrerr 1_10 

(D) 	Gu*EOLLJOST 61.§ 611 La 61)60 60 

Which of the following may be caused due to noise pollution? 

(A) Irritation 	 (B) Stress 

(C) 	Nervousness 	 0 All the above 

,@‘-nly,'EREFG-orrGb Ougalo org ? 

(A) 	1tf,5611) 	 (B) war 

(C) 	uptiL_Lb 	 (D) &ZD G1J ,166)6?)1gLb 

	joints are immovable. 

(A) 	Shoulder and arm 	 (B) Knee and joint 

Upper jaw and skull 	 (D) Lower jaw and upper jaw 

	uL@656-err ,161Dau_i1rpmai. 

(A) 	GprrdruLem_ wetpb 6ö 	 (B) cy3prLErrGb Lnibpb cy3L@ 

(C) 	GLDGI) prresH__ LAthpb LooSoiam_ 9® (D) 	prrmi___ LorOgth Gu)61) prrem_ 
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85. Dr. Mankombu Sambasivan Swaminathan is an Indian Scientist known 
for his leading role in India's 	 Revolution. 

(A) Red 	 (B) White 
Green 	 (D) Black 

g60 11-1  atOILI 
e_Clerrthluirrar t_rr&L_fr. Lnrr6irrQ66rnbu &rrLbublaiGirr a-airru6lprrp6isr 

(A) 	*gal Lig 
	

(B) QQJ 660i 	66) LO 

(C) 	Uffra) LD 
	

(D) 6boc_iy 

LAD-LLA61Gb 	(p6is1ar66611:_l 	UJ 	1140611 , 

86. 	The organ that is affected by Corona 

(A) Head 

(C) Heart 

QE5rrg-rr6-zsrrreSl6rrra) urr 16651:JuLL 	CJLI 

(A) pos)Go 

(C) 	@p IL CD 

Leg 
Lungs 

(B) 651161) 

(D) gemyOu-Gimsdr 

87. 	The thyroid gland is composed of two distinct lobes lying one on either 
side of the 	 

(A) Brain 	 (B) Heart 
Trachea 	 (D) Abdomen 

6ovrriii® &rCJL1UJ1rGoT, 
66§UuaurruE 1615)LOgi611-01-01 • 

(A) ume-radyr 
(C) 	cy245.-& (wGIS16ifr 

6Eff @(5 14OW3Lb LleSEEMYt 96-b-corr&; @ITG601® 

(B) 	@P 1140 6tr 

(D) 	G)-1  610 6:01- 

88. 	Ethanol is manufactured in industries by the 	 of n-iolases, 
which is a by-product obtained during the manufacture of sugar from 
sugarcane. 

0 Fermentation 	 (B) Evaporation 
(C) Condensation 	 (D) Sublimation 

QprrOIEFrr6-6)GouS1G-b z53LbutF&VO6isr E601Glin urrA1610,60 	 (66),0115161) 
orperrrrGi) pturrrfilsE6C]u®640. 

(A) 	Q(544p6i) 	 (B) ,e51 ILI frpGb 

(C) (. 6-rflrreS1pG1) 	 (D) uprLorrp61) 
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The pH value of pure water is 	 

(A) 5 	 (B) 6 

0 7 	
(D) 8 

gr ILI $r9 dr pH LoOLILA  	W. 

(A) 5 	 (B) 6 

(C) 7 	 (D) 8 

In 	, we have nuclear power stations, in Kalpakkam and 
Kudankulam. 

(A) 	Andhra Pradesh 	 (B) Uttar Pradesh 

(C) 	Arunachal Pradesh 	 Tamil Nadu 

(06m 
 	, ffiGi) u rr&zub L*pb En_i_rGrab ,wD 11_1 &du® 	&G-616i) 

uJrjT ,916-6)Lob§GiTGrrar. 

(A) vw09-  u-Gp00 
	

(B) 	IJCJarTGP0061)  
(C) 	cza 	rrIF&Go u-Gpego Gb 	 (D) pu51 

Spectrum consists of 	colours. 

Seven 	 (B) Eight 

(C) Nine 	 (D) Ten 

ADLorromu_i rrar§ 	6116001 6001 It.1650)6TrIE Qffi rruioi @GiTurg 

(A) GTG. 	 (B) orL® 

(C) 96icrug 	 (D) uA§ 

The 'Power House' of the cell 	 

(A) Cytoplasm 	 Mitochondria 

(C) 	Cell membrane 	 (D) Chloroplast 

ClefGbadsr ,%6,061) 61D LD LI lb 	  

(A) 	Go&C_Gi_rr errrrath 	 (B) 	wLrr rrbooi 	461 ILI rr 

(C) 	Q&Gb &Gil el 

DJRE24 
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(D) u&1L66666166Lb 
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(B) melting of glaciers 

all of these 

93. 	Global warming will cause 	 

(A) 	raise in level of oceans 

(C) 	sinking of islands 

94. 

yeS1 QGuLluinrrpeSIGirr rrooiLD1r 	UL&LUJ 66-ne1Tai 	 

(A) 	Ei_Gb LD L_ Lb 	ILI rip 61) 
	

(B) 11661 ill U16 -1 o(p61) 

(C) 	$ales E6it:_L_rLE6Gi-r 	 (D) GLoGGo E61,61tu ,916r§th 

plant is used for the treatment of jaundice. 

A Amla (B) Kuppaimeni 

(D) Aloe Vera Keezhanelli 

	 w(.561-r ffi1rum16na) 	51rUJJ LoatprrffiC_I utuGisru®Afflg.i. 

(A) Qp6b661 	 (B) ( C_J6IDLIGLD661 

(C) 	pi-Q(561)661 	 (D) G(EF rrttg th,th,orrepw 

Skull in human consists of 	bones. 

22 	 (B) 32 

(C) 42 	 (D) 52 

meMprrffieffiGisr Lo600166)1_ 9@ 	 GrgiLby&GOGITel QffirrEicn@el-ruroi. 

(A) 22 
	

(B) 32 

(C) 42 
	

(D) 52 

Acids are 	in taste. 

sour 	 (B) sweet• 

(C) bitter 	 (D) salty 

.1u51601-LEGtr 	 &GIS) GML1 _61J) L_ U1 60611 . 

(A) 	Li 661 LI 	 (B) @661C_Iy . 

(C) E6aCJ 	 (D) iii 

DJRE24 
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An 	is the smallest particle of an element. 

atom 	 (B) molecule 
(C) mole 	 (D) mass 

90 p661w016isr LiS1664 eflAu u60 	 

(A) 
	

(B) uGueurngi 
(C) GLorrGb 
	

(D) filmx 

	is produced when an object is set to vibrate. 

(A) Light 
	

(B) Heat 
0 Sound 
	

(D) Measurement 

90 Gurroetr ..41(r6-14166 1:_u®$,§L.b.Gurro 	 Q_0Giirrglxg. 

(A) 	G GINREF Lb 
	

(B) 	iUULb 

( 	61 
	

(D) ,z9lare3LEsOLIG1) 

is a process of removing impurities from water to make it 
potable. 

Reverse Osmosis (RO) 	(B) Sieving 
(C) Filtration 	 (D) Winnowing 

	 ordsrx w36-6),06161), $616b 	LorrErstEdr $166sLiuL@, 
eA-0666116651:_iu@gx§. 

(A) crpr 	utjaid) (RO) 	(B) 
(C) QJLii_EL®pG1) 	 (D) POPP6b 

100. In India, 	circuits of potential 220/230 V is supplied. 

Domestic 	 (B) Offices 
(C) 
	

Department of Education 	(D) Streets 

@OlturreS16b 	 L.616b-r 600.16061) 220/230 GairrGbL_ u516iffeyr(Opth 

(A) 	alii@ifir9Lll 	 (B) ,9igje.JemErLffierfiGi) P_. GiT err 
(C) 	uGtrefl& EGbeS1A§66),06161) P_Gtrerr 	(D) Gpostfficifl6b Q_G-i-rGrr 
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101. Rabies is a fatal disease which is transmitted by the bite of the infected 

.0 Dog 

(C) Man 

prrtimbffit+ 	D1_1166)L1 

G)GoLorrffiu. 

(B) Bird 

(D) Fish 

66.14u_i Gprrul ,@§ 

 

661.9_nup6b-r 

 

(A) prriLl 	 (B) Ll eD 

(C) LothIp6irr 	 (D) uS6isr 

	is essential to perform winnowing activity. 

(A) Rain 	 (B) Soil 

(C) Water 	 'Air 

WOO) 6T6T,D Q511105)61) (61E0p 61615-raioal6tfrQiitoNtr 	 ciGuAuiLb 

Gp611)611 @A1,00 

(A) LD66)W 
	

(B) En‘doi 

(C) $rr 
	

(D) arctoi 

	 involves the artificial rearing or cultivation of earthworms 

and using them for the production of compound from natural organic 

wastes. 

Vermi compost 	 (B) Artificial 

(C) 	Grains 	 (D) All the above 

6561Lnn Qurorr LooSoi 	yg166EGIT 	appe_IGIDL_111 (F Qadie_iprrGb 	(5Gurr(Lb 

QuNisreDinturrar, pseiT Gu1r6isco 601ain Gurro-  dr66GGrr  	-L.b orarC_Iu®Lb. 

(A) LD6001 LIU 
	

(B) Q&11466),E6 

(C) uift 	 (D) Gu*E6Lithliu'416-nar§Lb 
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(C) 

Chloroplasts are 	 plastids. 

green 	 (B) blue 

(C) white 	 (D) red 

	Aou51366-tour CLE6F600161G-trGrr ,E50616Eth u61&Lb. 

(A) u#6/D6F 
	

(B) $a) 

(C) QaiGi-ros)Grr 
	

(D) blGuLly 

The deficiency of insulin causes 	 

(A) Cancer 	 (B) Tetanus 

0 Diabetes mellitus 	 (D) TB 

mERGS16isr EriTULSIGb (6-6),Durr@ GT,tu®Guprr61) 

(A) LOPGPFull 
	

(B) QLLTGiD 

(C) 	LALJ rr u LEGiu CILD6611._Gfo 
	

(D) ffirr,EF Gprrifi 

An Amalgam is an alloy of 	 with another metal. 

Mercury 	 (B) Tree 

(C) Soil 	 (D) Stone 

@ITERI4E61)6nal G-rd-ru§ 	, P_CGo rr,E6 G&I'r(tp 61) 62D GIJ ILI IT Lb . 

(A) urrpiyab 	 (B) Lou- Lb 

(C) in6601 	 (D) (TGI) 

	 gas in the air that we breathe is made up of two oxygen atoms 
chemically. 

Oxygen 	 (B) Nitrogen 

Helium 	 (D) Sodium 

prah arairrglLb Erri0,61Gb 	-re-r 	 Gurrulairraro, Ge4C_ILS16-6)66biagesn-r61) 
@Gto664p @u-66016) .:(t1N6isr ,,.lisEerrrrGb 

(B) 6-zoTh 	6iff 

(D) G,EFrrirouth 

(A) ,DslEANG-isr 

(C) 	1UJLb 
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108. Sound waves produced by 

(A) Man 

Bat  

are examples for ultrasonic waves. 

(B) Lion 

(D) Deer 

	 çruJLb 995,101.6n67 L 	rr66-1:. @fti 8rftLJr .55)7,06urab.. 

(A) u)646-is1 	 (B) blrLath 

(C) Q6uGrrairr6b 	 (D) wrri 

109. The total 	 of a path taken by an object to reach one place from 
another place is called distance. 

(A) Pressure 	 (B) Mass 

Length 	 (D) Force 

9rr &40610M1  Lii,t4Frr 46tr)P ' 1615)1L6100 90 Quff0Gtr 
urres)016isr Quprrp 	 Qprros)Guai G-rarC_Iu®Lb. 

Gu(tp 

(A) .1(0pCD, 
	

(B) (6166),0 

(C) prrLb 
	

(D) 616nEF 

Food should not be purchased beyond the date of 

(A) 	Selling price 

Date of Expiry 

(B) Marketing 

(D) Printed label 

 

Q_Goz 	ap Qurrodramerr ,31Gurb 
55-11_11-0 

 

GPO CPOP (6166)6°61Gb 611 rrrtuE/6 

 

(A) 	61,thumar 616n6u 

(C) 	66rrGurra01 prrGiT 

(B) 61,61Guirr44p6b 

(D) 6,61113® 

 

Night Blindness is caused by lack of Vitamin 

A 
	

(B) B 

(C) C 	 (D) D 

uprrom&a6001 Gprruli ODGIJLS1Givr 	 ( 6-to,ourriii_rrGi) GLbu®Almg. 

(A) A 
	

(B) B 

(C) C 
	

(D) D 

DJRE24 
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The liquid metal used in thermometer is 	 

(A) Copper 	 (B) Silver 

0 Mercury 	 (D) Gold 

QGJI:J4166)GOLDIT621qathl6i) uuJbiu 	OuLb p-Gu GGurrffiLb 	 

(A) 	prru6 IN) 
	

(B) QJ6iTII1 
(C) 	u rrpu-EFth 
	

(D) p rti Li) 

Normally gestation period of human last for about 	days. 

(A) 150 	 (B) 360 

0 280 	 (D) 500 

Qurwairra u)6610161) (n_11 u rremb 	 prrGi-r&Grrrrib. 

(A) 150 
	

(B) 360 
(C) 280 
	

(D) 500 

114. The heart normally beats 

72 — 75 

(C) 	50 — 55 

@Pill umrar09Q P-151 400 

(A) 	72 — 75 
(C) 	50 — 55  

times per minute. 

(B) 60 — 65 

(D) 40 — 45 

G 66),0  ILciAgl,m.§1-

(B) 60 — 65 
(D) 40 — 45 

115. The 'universal solvent' is 

(A) Acetone 

(C) Benzene 

&rraht 	u rmirr GrarO u ® &ID 

(A) 	LC i_rr6isr 

(C) Qud-rg6isr 

0 Water 

(D) Alcohol 

(B) (6(r 

(D) .61).ELwrrGb 
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116. The largest democratic country in the world is 

0 India 	 (B) China 

(C) USA 	 (D) Canada 

GuRG6oGui uSI&C_IClurflui NesrprrtuE5 p 

(A) @ctOuirr 
	

(B) garrr 

(C) ,91ClinfitzErr 
	 (D) 6661L_rr 

	

117. 	 was established by the Justice Party Government for the 
selection of Government Officials. 

Staff Selection Board 

Public Service Commission 

Provincial Staff Recruitment Board 

Staff Selection Commission 

,911T8 .,%IpErr616666)Grr Gprral Q&1111111 	  (60 clt t€5LäuJrrGb OgenliuLi_o? 

uestsfiu_irrunt Gprrai airrrflu_nb 

Qurrpil u6661,9seDbooluab 

L14161)1_11 umfluirrarrr ,%QGrr®C_ILI airrMtuth 

u 061 LLI n-Grrrr Gprrat 11615)6001 	ILI Lb 

	

118. 	was the original religion of Japan. 

Shinto 
	

(B) Confucianism 

(C) Taoism 
	 (D) Animism 

NC_Iurr6616isr 6ft-065 LnpLb 

(A) 	619 6i5T 	rr 
	 (B) &dire 01 ILI rr6616ab 

(C) prrGQ_IrriaRb 
	

(D) .1661u6LEFLi) 
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	was the Independent India's First Law Minister. 

0 Dr. B.R. Ambedkar 	 (B) • Dr. Radhakrishnan 

(C) 	Dr. Sachidananda Sinha 	(D) Dr. Rajendra Prasad 

60013-  atOturraCloirr GDpGb 	Dios)Lolcafr 	 

(A) 	61.,Vr.LbGupErr. 	(B) 	rrft.@D- rrprrgloG4Gozioisr 

(C) 	rrJr.a#Aprroisctp Adsrffirr 	 (D) t_rrIEL_fr. @D-rrGatOrT 619-,Frr 

Which of the following Palayakkarar of Tamil Nadu was the pioneer 
against the English rule 	 

0 Puli Thevar 	 (B) Kattabomman 

(C) Yusufkhan 	 (D) Marudhu Brothers 

61640-rai (5 Lb puSlprrL® urreoorru_A6ErriptEel-r 	,DsL4lotoui 	rrpoSIGI) 
(y)6isrG6rrr4ui rrerral 6- 

(A) 	6661 Gpairr 

(C) g&Lliffirroirr 

Where was the anti-Hindi conference held? 

(A) Erode 	 Salem 

(C) Madras 	 (D) Madurai 

atO orprC_Iy inrrprr® on-LC& p_OC_IQuaw 

(A) FFGu- rr@ 
	

(B) GEcab 

(C) gEf6irroDoo-r 
	

(D) Lo§j 

Fort St. George was constructed by the British in 

(A) Bombay 	 (B) Cuddalore 

Madras 	 (D) Calcutta 

L_Op Nrrfr& GErnies)L_ ..16E1G6oturraGrrrr6i) 65LL_LIJuLL._ 

(A) uCourrib 
	

(B) LTft 

(C) Lopyrroiu • 
	

(D) csGimsprr 

(B) ffiLl_Qurabw6ic1 

(D) wog] 6FGErrputaci-r 
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The Oldest Industry in India was 	Industry. 

Textile 	 (B) Steel 

(C) Electrical 	 (D) Fertilizers 

	 Qprr0161) @,1pu1reS16isr Lip-nmuirr6-61-  QprrOlGb ,s(t0). 

- (A). 	 (B) 

(C) (C) u516b1,515 
	 (D) 

Aryans came from 	 

(A) 	China 	 (B) North Asia 

Central Asia 	 (D) Europe 

(r,s6d-r 	 610,tgl G4Parrr• 

(A) 	g6IST IT 	 (B)• e_ILIE(t .„%gl 11J rr - 

(C) 	 (D) mGD- rrC_Iurr 

Who is called the first citizen of India? 

(A) 	The Chief Minister 
	

0 The President 

(C) 	The Prime Minister 
	

(D) The Chief Justice of India 

atOuirre516is1 cypp-b (LEF.u)E6isr iurnt? 

(A) G3pGueoLDIF6Fft 
	

(B) 	p6mairr 

(C) 	619-porr 
	

(D) atAlul PG""nl-D  

Velu Nachiyar was a queen of 

(A) Sivagiri 

(C) Nagalapuram 

  

0 Sivagangai 

(D) Virupachi 

GGug 5rr&69uirrit G-rC_JuAluSIGis-r 1ra-61 	Gurrfr? 

(A) glGug161 
	

(B) 6161_1E1-La& 

(C) prr666-orry9-0) 
	

(D) eSlonurni41 
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The Marudhu Brothers were hanged to death at 	 

Tiruppathur 	 (B) Kayathar 

(C) 	Virupachi 	 (D) Panchalam Kurichi 

wo§ &GErrpipt&GIT 	Grthp @i41GI) 

(A) 	03UuAgrit 	 (B) a ILI Aprrg 

(C) acloC_IurrLA 	 (D) urrarrGurfiltf,f1 

Where did the U.S. drop its first atomic bomb (1945)? 

Hiroshima 	 (B) Tokyo 

(C) Nagasaki 	 (D) Kavashaki 

QuAtarr paro gp6i) 	rGLG-rrLGEEQ1uJ (1945)? 

(A) OG9-rmSlumr 
	

(B) Gt_rrIEgIGU_Jrr 

(C) 	p rr rr 
	

(D) 66611rwrgl 

Why was Manchester considered ideal for textile production? 

availability of land 

rich human resources 

better living condition 

cool climate 

inrr6i5TQadul_ft papb 63-6-iff Nal Gil 	LIAO& 	.E6(tp @i_Lorraa aopC_IuLi_o ? 

filGoth gem_aa Quebpown 

uSl (tp Lothlp6u rrLb 

pGi)Gu aneteDa 

(6.61(rtFblu_Jrrar p u Qugko 
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130. Preservation process of dead body in ancient Egypt 

0 Mummification 
	

(B) Sarcophagus 

(C) Hyksos 
	

(D) Polytheism 

61(01:411_4666iT go(6p I___G-1)&66)Grn_11 upnu@Al urrggErrp ()66),D 	 

(A) umbuSlurr&Eab 	 (B) 5frGEsrruEbridU 

(C) 	6ZOW&G&ITGIU 	 (D) U6D i_eiGrritseDur Gllboo 	rpG1) 

131. What was occupation of the inhabitants of the Kurinji region? 

(A) Plundering 

(B) 	Cattle rearing 

Hunting and gathering 

(D) Agriculture 

( 06b1 (6160ciLl011961) irr 	LD16666616i51 QprrOGI) iurrg? 

Cl&rrdreDGTRLI Ls_p61) 

Gm ti4p6-1) 

GGIJLem_u_irrOpt LAbomb GEE6r4p6b 

Galan-rdsreDm 

132. The First General Elections after Independent in India were held in 

(A) 1948-49 
	

1951-52 

(C) 1952-53 
	

(D) 1947-48 

atOuirreS1Gb Erp,011701 	(y*Gi) Gurrgi Gprrp‘b p6In_QuAD ,%6601@ 

(A) 1948-49 
	

(B) 1951-52 

(C) 1952-53 
	

(D) 1947-48 
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133. Veera Pandiya Kattabomman was hanged at 

(A) Sivagangai 

(C) Tiruppathur 

elju rroioi tg_iu LQurrWw6bT gir&A16611_111 u 

(A) 	al 66 ft] 606 

(C) 	LI UAW 

Kayathar 

(D) Panchalam Kurichi 

(3) 	66 U_JAp rrg 

(D) 	u rr6ErrGo r&J ( ethl #41 

134. Who was the founder of Ramakrishna Mission? 

(A) 	Swami Dayananda Saraswathi 

Swami Vivekananda 

Annie Besant 

Raja Rammohan Roy 

ITT wzgloG4Gooirr u51646nar oGurr16Aluiant rrfr ? 

&airruS1 puirrar,tp 51J-61064 

ErGurru51 	Gal 66 rractp 

biof Q u&G-ifni 

@rjrrwirth GL.DrrEGisr rrruJ 

135. An example of Chola architecture can be seen at 	 

(A) Kannayiram 	 (B) Uraiyur 

(C) Kanchipuram 	 Thanjavur 

G&I-re6s€616-icr aL4L_AaeoGuEsarrar 6-r®A§,t,srrL6-6)L_ G-1- 	ErresorGurn_b? 

(A) 	do-mu rriatTib 	 (B) 	6b-)xgr'r 

(C) 	rrA 'jib 	 (D) 	(r.FrrWr 
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2 tnAlC_ILA16 (Errodisrffi sin 45+ cos2  45 

(A) 1 

(C) 
2 

(B) 2 

(D) 

(B) p = 10 
p = 15 

(A) p = 12 
(C) p = 40 

136. Which of the following pairs is Co-prime? 

(A) 	81, 27 
	

(B) 52, 91 

	

51, 61 
	

(D) 12, 22 

Lgoirraloib @es)60016d61), or al Erritu6srr GrviolEGiT 	? 

(A) 	81,27 	 (B) - 52,91 
(C) 	51,61 	 (D) ' 12,22 

137. The Supplementary angle of 700  is 

(A) 20° 
(C) 290° 

70°-61r u616-nE ppliy& Garruoi 

(A) 20° 
(C) 290° 

(B) 30° 
110° 

(B) 30° 
(D) 110° 

138. Evaluate sin2  45+ cos2  45 

(C) 
Aid 
2 

2 
139. The value of p in the equation 	=10 is 

3 

2p 
=10 orGisrx &LDGisrurrilib p GbT LDO LA 

3 

(A) p = 12 
(C) p = 40 

(B) p = 10 
(D) p = 15 

DeTRE24 
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If x% of 600 is 450, then find the value of x 

0 x = 75 
	

(B) x = 65 

(C) 	x = 0 
	

(D) x = 1 

600@6b-r x% G-rdruo 450 GT66161), x 6iff u3NCAnutt ,surdo-ra. 

(A) 	x = 75 
	

(B) x = 65 

(C) 	x = 0 
	

(D) x = 1 

Find the simple interest Rs. 25,000 at 8% per annum for 3 years. 

(A) 	Rs. 2,000 
	

Rs. 6,000 

(C) 	Rs. 7,000 
	

(D) Rs. 2,500 

25,000& 8% ,sesoT® GuLL9_ GSpLb 3 	 JLiq arrit-rffi. 

(A) 	Rs. 2,000 
	

(B) Rs. 6,000 

(C) 	Rs. 7,000 
	

(D) Rs. 2,500 

The mean of the data 12, x, 28 is 18. Find the value of x. 

(A) 18 

14 

(B) 16 

(D) 22 

pii-e_NEGir 12, x, 28 ,%Altu vais6616isr ,EFuTrEM 18 G-refild), x 613-r LON 1_11 GO LI 	rram. 

(A) 18 
	

(B) 16 

(C) 14 
	

(D) 22 

Discount is subtracted from 	 to get S.P. 

M.P.. 	 "(B) C.P. 

(C) Loss 	 (D) Profit 

pGi-rutElit_prresr§ 	 E01166OuLL@ aql,bumesr 6166)Go 
Qup_liu@gltoo. 

(A) 	(filp agles)61) 	 (B) ,911__&aeSIGna) 

(C) pLI_Lb 	 (D) @orrutb 
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4 : 1 

(D) 3 : 5 

144. An angle whose measure is less than 90° is called an 	 

Right angle 

Obtuse angle 

Straight angle 

Acute angle 

90°Lb (66),06-1_111661 Garreso-r ,Dicrral 	  orari_liu@Lb. 

Q,EFiti 	Fool Lb 

Ga rruoi 

Gp rrGa RAI 	Lb 

Ga rruoi 	Lb 

145. Simplify the ratio 2O: 5 

(A) 	1 : 4 

(C) 	2 : 10 

20: 5 6-T-60 61g1p5GDp ordiu 	LEFOS16b 6611660165. 

(A) 	1 : 4 
	

(B) 4 : 1 

(C) 	2 : 10 
	

(D) 3 : 5 

146. Simplify: (10 +17) ÷3 

9 	 (B) 6 

(C) 3 	 (D) 2 

1(516&E6 • ( 0 +17) ÷3 

(A) 9 
	

(B) 6 

(C) 3 
	

(D) 2 

DelltE24 
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If two angles of a triangle having measures 659  and 35°, find the measure 

of the third angle 

0 80° 	 (3) to 

(C) 60° 	 (D) 90° 

glar.firr6a4061) @IT6dbi@ Quruoi0t .1Grraleisci-r 65° inetpb 35° Gr6616b, 

u6isr,orrGu§ Garr60(406isr .161-r6)61_116 9;1r600166. 

(A) 80° 
	

(B) 70° 

(C) 60° 
	

(D) 90° 

Find the volume of a cylinder whose height is 2 m and whose base area is 

250 m2  

0 500 m3 	 500 m 

(C) 	500 m2 	 (D) 100 m2  

P_u_mpli 2 uS Lo,toilb 	CiuO 250 &dB QffirrGOOIL_ 96-  .._06-5)e-rugGis-r 6t$T1 greD 16 

z6rrdsrE 

(A) 	500 uS3 	 (B) 500 uS 

(C) 	500 £2 	 (D) 100 £2 

sin2  + cos2  0 = 	  

1 	 (13) 0 

(C) 3 	 (D) 2 

sin2  + cos2  9= 	  

(A) 1 
	

(B) 0 

(C) 3 
	

(D) 2 
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150. P (E) = 0 then E is known is an 

impossible event 

(C) possible event 

P (E) = 0 Gr661Gb E Gr6b-ru§ 

(A) s@l1_161)11 &PA 

(C) @u_10th VFA 

(B) sure event 

(D) likely events 

(B) go.10turres1 

(D) 6FLDGIATEILly fil,E6VFA 

Loss or gain percentage is always calculated on the 

cost Price 	 (B) selling price 

(C) 	discount 	 (D) marked price 

pLI_Lb 	 @Gurru Lb 6cpdpil) GrCJGu rr§ 

ffi 6001 	(CO 

(A) 	„911_15666166)Go 	 (B) 61A0 eSIGIDGD 

(C) 	 (D) 	6166)Go 

The sum of three angles of a triangle is 

180° 	 (B) 360° 

(C) 90° 	 (D) 45° 

GAGErro300 udr0.1 Gffirr‘oolrLactfldr E61610) 	 

(A) 180° 	 (B) 360° 

(C) 90° 	 (D) 45° 

LEGp 
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153. 21  years is equal to 2 

(A) 25 

(C) 24 

212-- 	® a dr ordsni§ 

(A) 25 

(C) 24 

months. 

30 

(D) 5 

LorrprL&Gi-r. 

(B) 30 

(D) 5, 

154. Find the LCM of 156 and 124 

(A) 8463 
	

(B) 3684 

0 4836 
	

(D) 8346 

156 Loapb 124 .sgliu orGoolaaf16irr LE.A 	,E6rr600lffi. 

(A) 8463 

(C) 4836 

155. If 2 : 3 and 4 : 

6 

(C) 4 

2 : 3 inapb 4  

(B) 3684 

(D) 8346 

are equivalent ratios, then the missing term is 

(B) 2 

(D) 3 

4blUJGi (EFLE) rrar 	gip 1#hE6IT 6164 Gb, 09 LI ILL_ 

(A) 6 
	

(B) 2 

(C) 4 
	

(D) 3 
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156. The next term of the sequence I 
2 3 

... is 
4 9 16 

(A) 

(C) 

4 
36 

4 
20 

1 2 3 
4 9 16' 

ords-r,m Qprajr al616-6)&61Gb 1 /451@$p 

 

 

4 	 4 
(A) 	 (B) 

36 	 25 

4 
(C) 	 (D) —

4 

20 	 10 

Number of line of symmetry of a circle is 	  

(A) 1 	 (B) 2 

(C) 	4 	 Infinite Number 

e_1111_0, 	afemjui LJ Lb 6FLbEFA Garr@6G-616-b-r oruibieb-flit6-06 

(A) 1 	 (B) 2 

(C) 4 	 (D) or66016001A06-nal 

33,(3-2 x3x 
The value of x, if 	=3-5 

37  

(B) 2 

(C) 3 
	

(D) 4 

33 x 3-2 x 3x 
=3-5 ,-Gb x Girr LI 

37  

(A) 1 
	

(B) 2 

(C) 3 • 
	 (D) 4 

DJRE24 
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The Least Common Multiple (LCM) of 204 and 156 is 

	

(A) 5304 	 (B) 1326 

	

2652 	 (D) 3972 

204 LAboith 156 6isr L.StFAg Qurr§WLJJ (uS.A.m.) 

(A) 5304 
	

(B) 1326 
(C) 2652 
	

(D) 3972 

Which of the following is a leap year? 

(A) 2025 	 (B) 2026 

2028 	 (D) 2030 

616b-raloGuesrairthoiGtr G-rgi GSLII 	® (C1pLi_rr6601@)? 

(A) 2025 
	

(B) 2026 

(C) 2028 
	

(D) 2030 

161. An equivalent ratio of 4: 5 is 

(A) 	1 : 5 

(C) 	7 : 8 

4: 5 @Gb-r-6Finrrar agpLorrar§ 

(A) 	1 : 5 

(C) 	7 : 8 

(B) 8 : 5 

0 12: 15 

(B) 8 : 5 

(D) 12 : 15 

162. If two angles of a triangle having measures 550  and 450  find the measure 
of the third angle. 

(A) 70° 	 - (B) 90° 

(C) 100° 	 80° 

9(!5cy-AG6srrGoi4 Gb @ITGeol® CffirrGoorrLE661Gir1 ,IG-rravEGi-r 55° upagiLip 45° 6166 6i) , 
GoGisrprrGu§ G6sn-6,0ot 

(A) 70° 

(C) 100° 

(B) 90° 

(D) 80° 

DJRE24 
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(C) 

163. A dozen bananas costs Rs. 60. What is the price of 30 bananas? 

(A) 180 	 0 150 

(C) 130 	 (D) 160 
1 

L__&6-irr 	rrav:_mi p rG-616-b-r 616-n GD 5. 60 Gt6-616i) 30 ai rres-qLi ua&6T 

6166)6u orGinar ? 

(A) 180 
	

(B) 150 

(C) 130 
	

(D) 160 

The perimeter of an equilateral triangle is 24 cm, then the area is 

16-fd cm2 	 (B) 244rd C 2 

121dCM2 	 (D) 32 Ardcm2  

95 6FLou156 g&GErrGoot 	Ertb,D GT1611 24 CLEF.L.S. ore616) ,91p6isr ITCJ gral 

(A) 	16-1-  cm2 	 (B) 24J cm2  

(C) 	12Ard cm2 	 (D) 32-\/- m2 

When a die is rolled, the probability of getting a prime number is 

2 

3 

5 
(C) — 

6 

9( 	u zses) 	 ® Li) 	rr§ , u6ur ordu 	LLJu1r6oT Asp,EbGli 
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166. The arithmetic mean of 21, 30, x, 16, 24, 28, 18, 17 is 22, then find the 

value of x 

022 
	

(B) 21 

(C) 17 
	

(D) 26 

21, 30, x, 16, 24, 28, 18, 17 .:„9sAltualath16-isr alL® 6F13-rr6Fffl 22 orGeGb x dir LDO I=1 

(A) 22 	 (B) 21 

(C) 17 	 (D) 26 

167. If a Company pays Rs.10 lakhs for 12 workers for 15 days, how much 

would it need to pay for 8 workers for 18 days? 

0 Rs. 8 lakhs 

Rs. 12 lakhs 

Rs. 10 lakhs 

Rs. 6 lakhs 

9(5 OgGIIGYLD Faro 15 prrcti-56(5 12 GaiGnGoturrd-r6sek55. 1.0 @G-DILEFLip 

Qpir61066G1DUJ 	fi-Aluit.orra 	( g,T§ 	6116616° 	c:0,6101a-larOt(5 	8  
Calomiurr6b-6516(5 18 prrGi-r(ss16 	P.L.TrOlULD IT& al ORE crdiale-re$ Qprroo& 

Gpmai? 

5. 8 @Guilisn.b 

5. 12 E@GDIL_Efth 

. 10 @6DIL6Fil2, 

5. 6 @GuLiffib 
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The distance between the origin and the point (-3, 0 1S 

(A) —3 
	

(B) 2 

(C) 
	

3 

,9s0:_n_ddrefitd) (-3,0) 6F6traD LiciTG-61U) 	p_d-rar QprreDwal 

(A) —3 
	

(B) 2 

(C) 
	

(D) 3 

The cost price of 20 apples is equal to the selling ,price of 16 apple, then 

the gain percentage is 

(A) 20% 	 (B) 30% 

cU 25% 	 (D) 15% 

20 ,%C_n_51d-r6EGilGivr ,DILIE66 6166)GolL111611T§ 16 ,w:_m_516trad6isr agl rbL166)613T 6166)Go 

&mil) Gre616) @Gurru 6FpGSpb 

(A) 20% 	 (B) 30% 

(C) 25% 
	

(D) 15% 

The length of a rectangular field exceeds its breadth by 8 meters. If the 

perimeter of the field is 296 m, then the length of the field is 

78 m 
	 (B) 148.m 

(C) 	70m 
	 (D) 140 m 

Q6F6i.J61.165 6114€1.1 (616146i5T prrwrreer§ .0,61G1406.irr „w6646-npeS11_ 8 LELLir 

,c9ipab ,91#Qj&i 	ju (61 640 GiST cEfi-aD 61T61.1 296 uSLLir G-T6-61Gb .1,606406isr 

prrib 

(A) 	78 uS 	 (B) 148 uS 

(C) 	70 uS 	 (D) 140 uS 
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Personalized OMR Answer Sheets of the candidates will be supplied by the Invigilator for 
answering the questions. If the OMR Answer Sheet, is in anyway defective, the same shall be 
brought to the notice of the Invigilator immediately before shading, so as to supply a spare 
OMR answer sheet: 
66-6)1_656-nur 	 rrL616601665ruuprriptEddir pei9LiuuiesurctsuuLL_ OMR 616-6)4prrGir 96-b-rg 
p_J-Lact 	„916nx aGOolErr6-669C_JurrarijrrGb pulliu0CD. OMR 6-16-01._prrGIT GjCpwLb (6-6),wurr@a-)L_u_Jprris 
.&5p5n-G-1), .10G1.) 616-tim_esmict (,61WE&rrt:_61G-up, 	(J6 	ruirrcs 	EG-disrErres-61uurreT616-b-r 
ffiGuar0, 	ClffirrukH@ Gu(t§ CalQ,Drro OMR eSlem4prrcoart_li Qub 	cltsirci-rar Ge_16601®Lb. 

1 
Each question has four responses (A), (B), (C) and (D). You have to select ONLY ONE correct 
answer in the OMR Answer Sheet. In case, you feel that there are more than one correct 
answers, mark only the answer which you consider the most appropriate. In any case, choose 
ONLY ONE answer for each question, E.g., If for any question, (C) is the correct answer, you 
have to shade as follows. . 

® • ® 
9GilQairro 616o-rrrap (A), (B), (C) upagn.b (D) or,ar prrGirr 	eS16-ni_666-narct Qthrr6o0i 	 rLEGIT, 
„916-0G-uffici-1 	 a6liurr6v 616-6)L_Gnu_4 Gprred GLEFUI1U_)(161_16601@th. 96isto.iCLULILL 56111_111G-6r 
616-m_ad-rQ5 CadreSIkt @ouuprrEls 66(4-1613-n-rd), (61-L66dr uSIE:5 Efilurrego orGirrg  
Eogiri1,6rrffiCurrr 	aclom_66)114pn-ch 616-in_prrth1Gb (5,61WErrLi Calr®Lb. Gruuturruggith 

G6G-treSI:E6 	9GIT 	e516-m_6-6m4prreo-r GprctQp®&th Ge_haio-r@Lb. 	prro-6ocoLorrs, (61- 1Jkssdr (C) 
GrGisrucog ,561tun-ar eSlent_iurrazt 65006-aTIT6i), „wog 616-b-raion-roi (filg.icfs rrL Ca16601@ib. 

You must write and shade your Question Booklet number and Booklet Series in the space 
provided in the OMR Answer Sheet without fail, with Blue or Black Ball point pen only. 
In, case of any wrong entry of Booklet Series, your Answer Sheet will be invalidated. 

61615-r4 	 676601 wflLb 	616-6)&66)tu OMR 616-6)4pn-e616-8-r .10Q66-61- 
LD(6§1 GiT 61T 	 Gb 	61M13 al 6)61)0J Zfi(1(165)W 	y)6LUJ UQp6)6TLJ 	u ar rr err rr 6i)  

rrLLGe.1666-r@th. 6661.4 QprrilJ6-16isr Gu616-6)&6-nu p6u,Drra („thlprrG-1) P_I-EmEdr GY6-n_pn-Gir 
Cl5GbGorrpprrge510th. 

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to 
take the Question Booklet and the Answer Sheet out of the Examination Hall during the time 
of examination. You are permitted to take the Question Booklet only after the Examination is  
completed. 
PLI,Esdr eSlar4 ClArra516-in-  Opu uflapppliith eltbGaIrr 	 g10,t&GGurr 	Gpfral 
Cpu-Olcb 	e_510-rn- 	Glprriin.516a-)GisrGuirr 	 61615)L_. prra)G-n-Guirr Gpital& E6.11_66) 	€151L61 
QGue1.5161) or-61§tf Q&G-i)GuctFo_i_n-§. GO-6-11 gitif$016b-r, 	GileSlar4 fLT 

CLEFG-boxorrth.  

Do not write anything in the Question Booklet, except in the space provided for Rough work. 
616vrOprrt_11616) 6filLigthci-r or(TOili urrn-nup(tr9u_i @i461Dp 	Gag' 04061) GroDpu_ith 
orupsali_rrgi. 

Using Whitener / Blade / Eraser or any kind of tampering to change the answers on OMR 
answer sheet will lead to invalidation. 

6.6)L_I_LJ OMR, 6-16-m_prrcifIG-i) 	 616-6)L,Eses)crr uprOx 961LarrrASIGGrr61/.,91§C_IurrGirr 
Gurrciscpa)Gliamar uuJbTu 	 o 	 &uü GurrGisrxeDaJ P_I-L&61-1 OMR 
616n4prra)e-rtF Q&GI)Gurrpuf5A16161Lb. 

Failure to comply with any of the above instructions will render you liable for action or 
penalty as the High Court may decide at their discretion. 
CwCo GIT 61T GTO c:91,6161],p0pG-ba&Lb @GooirL6E paifilarrrG1), 	u_JI1u)61)-rxL1) cpEl_CIG-u®&Lip G-rp 

p__GuLci_&6-6)66 	 paivri_coart6(5 (6rLhWT clun-guurrelY6G-1-r. 
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